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Class- Matric 

Subject-Mathematics 

Time: 3 Hrs 	 M.M : 85 

p) 
(Section-A) 

1 3f-c- 	w-9 

Ail questions carries 1 mark each. 

3,1111T3zT 	 E;k1 12, 15 ci 21 cbl HCF 	UcI (-1-) 	I 

Find the HCF of 12, 15 and 21 by prime factorisation method. 

f.1 LIN Gigt-11T 

Quadratic polynomial has 	zero 

trq..4cF *11)4r0-ri TIT 2x + 3y —9 0 zi 4x i- 6y —18 0 -c-b-1\--RiTf4ftzT ';1-45H 441 	I 

(a) VR1:EaiZ' qi72-01 	(b) 	P1F1 	(c) 	-4 I 

What kind of geometrical representation the given pair of linear equation 

2x + 3y -9 0 and 4x 6y -18- 0 has 

(a) The lines intersect (b) The lines concides (c) The lines are parallel. 

D- 	-- 4 ac 

-C1.5 	a,, 	- )- (n —1) d 

L6 
	32 ±_ 52 

V.7 	10, 5, 0, 

-S1n 20 -1--- 	1 

11.9 	-RN11 -1-cT -cti) 0--P1 	 -4)--Tc-11 -41 

A tangent to circle intersects it in 	point. 

R1O 	411-4 -cTir 3114c1 

	

1 2 	, 	 4 	3  
(a) -2T r 2  h 	(b)

3  r
- 	(c) 	r  

Volume of sphere in 

1 
( a) 

2 , 	 4 
(b) -3-7( 	(c) •-3 

(1) 
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q-11-11—(r) 

(Section-B) 

2 3fT clic) 7-Z9 

All questions carries 2 marks each. 

	

7.11 	156 ch) 31'41\34 4111.1-MITT 4 	41u1,11-15-6 	,051 	zz10-  c11.1 I 

Express 156 as a product of its prime factors. 

	

T.12 	
1 

8 
 cbl 	 qD5R-11 	-4-c114 	Wfd-  5N-IN t off 3171td1 

17 
What actually performing the long division, whether —8 

has terminating decimal or non 

terminating repeating decimal expression. 

	

7.13 	x2  _ 2x  _ Eigtiq 	 ITT 4R1 

Find the zeroes of the polynomial x 2 — 2x --8 

	

7.14 	(2,3) 	(4,1) 1;-p4 c.
414 -cbil -0 TRT z1-3R) 

Find the distance between the pair of points (2,3) and (4,1). 

	

7.15 	f4;--i3-1) 	PF-J,ufact) 	4)4 X11 N.-i4 (-1,7) 311-R-  (4, —3) ch) fi)---dT 	 C11) 2:3 

	

31 -To 4 f 7TORT 	t I 

Find the co-ordinates of the point which divides the join of (-1, 7) and (4, -3) in the ratio 

2:3 

	

7.16 	Sin60°  Cos30°  Sin30°  Cos60°  

Evaluate Sin60°  Cos30°  Sin30°  Cos60°  

	

7.17 	-zfft P(E) = 0.05 * 	1E,  •0 c1 511q- cif 

If P(E)=0.05, What is the possibility of 'not E'? 

TrPi— (i) 

(Section-C) 

3 3tca clic) W'1 

All questions carries 3 marks each. 

	

7.18 	2x2  -1 3x 1-1 44  .v4-2 	T 111 41 4)1■.31Y I 

(2) 
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Dvided 7x2 1 3x 1 1 by x  2 

	

M.19 	 4W)1k; RiN 451 41,1 27 	-4Sur•TIEFQ'T 182 * I 

Find two numbers whose sum is 27 and product is 182. 

	

.5.120 	34 AP 	82-141 22 ,-1(11 4;1 4141 ziId 4;4 1- 141) d 	t. 	22c11 114 149 *1 

Find the sum of first 22 terms oi an A.P. in which d=7 and 22nd  term is 149. 

5T.21 4R Sin A -
3

- 
4 

 , Cos  A i?.11 tan  A 

3 
If Sin A ---  . Calculae Cos  A and tan  A 

4 

V.22 
Cos A 	11- Sin A 

1-1. Sin A 	Cos A 
2 sec A 

Prove the identity 

Cos A 	1-i Sill 
A 2 sec A 

1 + Sin A 	Cos A 

A23 	1)Q:1\31 4;1 -1--%111-k-1 . 11(1 4;4 I'.)14 4; - '1A (2,3), (-1,0) cT41 (2, —4) g I 

Find the area of triangle whose vertices are (2, 3), (-1, 0) and (2, -4) 

R24 	10 m 	 8 m 	1 TR R21-d R~ fc.1->̀) 	tEVRIT *1 

41-qk 	3nik 41 4,,,c1 	fc,0 R1 '4)(1 	- 11(r 	4l I 

A !odder 10 m long reaches a window 8 m above he ground. Find the distance of the 

food of the iodder from base of he waif. 

-P.25 	45. fl 	A 4 •6nAci 	 5 cm  -0 uk 	 .64-41 .  4 cm  tI led-  c't• 

u1 i1c1 -4,41 

The length of a tangent form a point A at distance 5 cm from the center of the circle is 4 

cm. Find the radius of the circle. 

V.26 	7.6 cm 	 5:8 3111y-I RA 41-  qmft-RT ctIftfq-  I -q-(-4.F 'Inn 4,1-  Trtfer 

Draw a live segment of length 7.6 cm and divide it in the ratio 5 : 8. Measure each part. 

V.27 	.174;41 	 3i1c,URcl I t,,1 6‘1c) I M(.?-ii-; . 411.1H -4.  Lit t")' 4>) --(4-0T .  25cm 	115°  

-c•N5 	 giZM). 	 514 c1 1-)111)c-1 1fd cbcffic 

A car has two wipers which donate overlap. Each wiper has a blade of length 25 cm 

(3) 
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sweeping trough an angle of 1150 . Find the total area cleaned at each sweep of the 

blades 

	

.7.28 	3W41 	.9Tuf-Wo.  7111 	 igra lbc'tftN.  Zrft cc 0 utel.  

	

,TIYA 	 - f -,41q 7,„, 	14 cm 

d241  /IOC — 400  

Find the area of the shaded region, if radius of the two 

concentric circles with centre 0 are 7 cm and 14 cm 

respectively zA0C 400  

	

7.29 	ch 71-4 .5). .q-45 ZI1Z 11-43T niv-11-Z,-ART zF).  71k-1 €.11.) c6) 	ct) c1 1 Vc1 -̀ 1D7 I 

(i) 	j.  31'11164 - -k-g-11. 	qb111 

A die is thrown once. Find the probability of getting. 

(a) Prime number (b)• an odd number. 

7-11-71--(4) 

(Section-d) 

5 3tA "q1-6) W.7•T 

All questions carries 5 marks each. 

	

7.30 	W-F aiRicrIcFk cl chi Wfful 	9)- 1- `11-611. 	60 Tird-  3T14 cF 	t I zift Tel q-j611 	30 

31R4EF 	 q1,11q ,11c1 ci.`))R3N 

The diagonal of a rectangular field in 60 m more than the shorter side. If the longer side 

in 30 m more than the shorter side. Find the sides of the field. 

	

7.31 	Srci5 	cl) Riw 	t;--4, 1.3 41) 	3' 4) 40 -C;11-1) 	f 	Bch C ci> 

115)1q 60° g 	 1)(-.01 	ct) 	TAT 450 t-  114-7--d-6"1 Th.cr 

Thlitiq 1 

A statue, 1.6 m tall stands on the top of a padestal. From a point on the ground, the angle 

of elevation of the top of the statue is 600  and from the same point the angle of elevation 

of the top of the padastal is 450  . Find the height of the padestal. 

	

7.32 	FW DTA 	1611141i-c-N-  31;4 -et)" IFAT311- -4)). -R,9--2 f431' 	 M 	 

	

ft,fq" 	R-41-41- 	317Q1 "Ert) IFIW 41 - 114-11,jt-iDci, 

(4) 
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If a live is drawn parallel to one side of a triangle to intersect the other two sides in 

distinct points, the other two sides are divided in the same ratio. 

	

V.33 	 6 cm., S 	3-'11' 10 cm 	 w-q 	 cl-)) 	 T\T-  d)d 

'q'il41 *)ilar 	41‘1C:i 

Metaltic sphere of radius 6 cm, 8 cm and 10 cm respectively are melted to form a single 

solid sphere. Find the radius of The resulting sphere. 

	

V.34 	74-4 	 30 1-(.1CIIM 	-ci>j-  4.1R 	t ft14 Tfrarcff "4-1-TR- 

IM 	(f4)414 1) 	4) 40 45 45 - 50 50-55 55-60 60-65 65-70 70-75 

WIIM LT1 	ci-)(i 	'k‘:/1 2 3 8 6 6 3 2 

The distributions below gives the weights of 30 students of a class. Find the median 

weight of the students. 

Wt (in Kg) 4O45 45-5U S0-55 55-60 60-65 65-70 70-75 

No. of Students 2 3 8  6 6 3 2 

(5) 
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